< .
| 2| e @
<5 )
£ Ols =[S
o o |z L O
L > o o k%]
o | EE—=—%
— 9 o < (£
m o |. < o N
2 O |o N o o
: 2 - 1582 = N
QO c oN |z < S -
y S SE |8 |52 |2
n s 2o Ed|sT |Eg
4 SE S 5« |8 ™
| ~« o -
C % m c m = 8 ol -
o 52 Q © 5| & W S W
Ww < Zz = % < ol g2 m >
Q| 2P| =g Bles 28
2]
> 2 o8| 25| 3¢ Sz L
7)) <c| © £ o C
c 3 Ee|lsz| 23 EHEE
B—N ~— c|l © %
T o Pm 2S == Zlas|SE
Q e X ~ 53| SR
o = As| o® I S| 2| 2¢
[ A o)) Z 5 —1 © > z
3 = S|l aa| I3 &
nlu. n o . S Q9 - @ a > © o
< @ s| S| o 1 g Sl N
= R w 9 = 9 = N = N
(0] 5 c o I Nle =1 z
° 3 =3 — % 2|3 . N| X
P [N =] (@] ° N D [}
O x A+ <3 2 g E 3
Q5 =2 3 € o 2 |B[cE| =
1 1 AE o~ 85 = = || Ew N
o ®© N5 &3 2 0 p 4 o [E] el =
[} L = |= o
0 @ O (o] a8 = o S 5
2 2 2 o= 2 <| E
2 32 o =] o
> €© c T o . o)
&) T L c &
c & © . oz > sl & ©
S c c s s o gl = N
QO © © k5 $§S¢ s| | 2
c = = 3 s 25 5 =8 ]
..mv. (] ] o 2 O =z o S
9 -— -— S z N S n
X X E . £ X = . [
S © O s : O
L 5 2 2 £ g g 2 E H 5 VYMOD0¥A
(7] - =
A ...n_l..v o o = £ N » w 2 o
(] P )
2
0 _H_H_
1T
-l
=% :
Fagits Tor.wqmnTmm.SmlT 110 9T’z _|
-~ oL'syz | 66LvZ | LLO 00'sZ
Non
1 W
-
gs
o © o
. . . 3@ . o
[-06"Lv2——8L 22— LL'O T 0000 @ T
= (s2)
-€9° vz ——vS L¥2— 600 95°6. —
/ L 9 svz_t 8v'ivZ_L 600 L 005 _|
s vz Sy vz T 600 - ves
l-91"2vz——0L"2v2—— 900 - 0005 —
£
S
el 5
2 85 -
< Sl
il T\
|-9."9vz—69'9¥2—— 200 - 005z
l-Gv'9vZ——88'9¥Z—— 200 05'60 —
// L Leovz |y 6zov | 800 b 2900 | m
N oeove | 8z9rg | 800 N 0000 7] & e
(s2)
S
S S
38
oS @
O
S |-£6'svz——€8'Sv2— 010 0052 —
£
o A 3§
o8 l-18'5vg <22 'Sh2—— 600 g 2289 —
=T E S§
~ W =
Yo} ['4
£§8
o
S
RN
©
1] W
= l-ev'svz——ze'sve—— 110 - 0005 —
v1°svz——€0'She— 210 - 18'9g —
|-88"vvz——9. vvz—— 210 - 005z
= m M
o~ F v
8
-zevvz—L2vvz—— 110 o000 -{ -6 ®
N
2
P |-68'cvz——82'€vz—— LL°0 - 68°08 —
<\
zs'evz——L2evz— LL'O 0052 —
£
&
n
el
i
A D
S 2\n
-15'evg <68 vc—— 210 - 0005 —
o zvevz——0g'sve— 110 - ov'zy —
&
° e\2
2 S\Z
3 . . . 2\3 .
-veevz——zz sve— 110 A - 005z
-6z cvz——LL'Svg— LLO 80wl —
IS
vz evz——zl sve—— €10 o000 -{ -6 ®
N
WEZ'erz=24_ |
G6'88.+C=WM
g
S nm sz 'evz——L1'svg— 800 0052 —
Q@
oS ™
=3
[32]
[Ye)
) wn
L Ee
w0 ey
m c l-0eevz——6L'sve—— LL'0 gs 2209 —
=) A
re] g4
QAN
N T
—/. o
S |16 €vz——82'svz—— 600 - 00°05 —
Sw
0] W
-

\ l-G5'evZz——9v'Sve—— 600 00°0€ —
|-09°'€vZz——05 €vz—— 0L'0 - 005z
v8'evz——eLeve— LL'0 - 9e20 —

\\ S
-v6'€evz——¥8'€vZ—— 010 0000 - —@— S
N
-ze vvz——€2 vhe— 600 0052 —
° Ele
w\ 5|3
< s|3
A I
|-69"¥vZ——09'v¥z—— 600 - 0005 —
Z £
IS
o
g
‘N ¥
U : |-90°5vZ2——96 v¥z—— 010 - 005z
I -LL'Gg—<—10'SvZ—— 010 6212 —
o o
I -ov'svz——1€'5vZz—— 0L°0 0000 - —@— ©
N
O SE
Sx
- O
nd S
o ©
al 87
£
s 5 -89°'svz——15'Svc— LL'0 SE 0052 —
m 14 c -1 2'Svg <65'Sv2—— 110 8= - cezs —
EQ £
e
=]
|
ow
1]
=
|-68'Svz——82'Svz— LL'0 - 0005 —
1-00'9vZ——06'Svz—— 110 00°0€ —
L e0'9vz_l 26'Sh_k L0 L 005z _|
F-eoovz - e6'Svzf LL0 = 1rez
N
S g
o o
i 2
-z19vz——20'9vz— 010 0000 - —@— ©
N
(<]
s -91°9vZ—90'9¥2— 010 2206 —
&
€19vz—£0'9v2— 110 0008
-z19vz——20'9vz— 110 - 0052 —
° el
g
§
|-90°9vZ2——96'Svz—— 0L'0 B 1-0008
u
<
S -v0"9vZ——56'Sv2—— 600 - oLer —
I
it
n
v
S
L viovzL soovz_t 600 L 005z
E=91'9¥==L0'9%¢== 600 = €922 =
ol'ovz | Lo9vz | 600 3 {2544
EE
INg
<L —
S
K
N
= l-12'9vz €1 '9v2—— 800 3 71720 -
£

o € sc o

o P S < o

= iz’ 9vz €L’ 9vc— 200 B3 /0000 @<

S5 x +

< l-02'9vZ——€1'9¥2—— 800 - £0'96 — N

87 g

£ 9
i PN S& | 888
m x I-81°9vZ—80'9v2— 600 ga RS /|88
cs g% | £<5
© -4 I

5= L9z —-20'9vZ—— LL'0 = £0'18

N ©

0 |l

© N |-01"9vz——16'Sv2—— €10 0052 —

F
-18'5vz——GL'Shg— 210 - 82v5 —
-18'Svz——02'Svz— 110 - 0005 —

E 2\g
-~ E =
$
o l-9¥'Svz——98'Shz—— 010 - 0052 —
&
£
o
3
T
© B\%
-~ W\ m
-v0'SvZ——96'v¥2—— 600 0000 - —@— o
N
2
< I-€8'vvz——€L vvz—— 0L°0 - ve 28 —
u /
09 P2 105 vhe—- 0L°0 — | .o - 0052 —
< S\2
8
)
&
3 // |22 vvz——0L vhe—— 210 - 2055 —
N
; 1 vvz——20'vve—— 110 - 0005 —
180" vvZ——L6'Sv2—— 2L'0 Zr' oy —
Y
=
e}
§e s
an~
<Ps
<3
&
4
\\ b oreve_l soevel 110 zr'oz |
%/ Fyoevz T Loere T €10 - 005z
o
et EE
83
SR
el
l-zv'evz——vE'ere—— 600 87'G0 —
\ : g
= o
veevz——vz sve— 010 8 ¢ [Foo0o |O|w_
o
/ ges &
<7 S

~ S

N 11evz——L0'Sv2— 600 & - 6568 —

| -

’ -v1evz——€0'sve—— 110 87'G8 —
l-80°cvz——16'2vc— LL°O - 0052 —
|-26'2vz——182vc— 210 - 0005 —

o € =

P %2
|-122v2—-59' 22— 210 c |-ooszH

&
&
T,
o~ o
© o
o -29'2vz—05'2vc—+ 210 0000 -{ —@ —
3 &
Elz
o o o o o o o o o o o o o o o o o o o o
S S S S S S S S S S S S S S S S S S S S
w0 < (32} N ~ o (o] [ce] N~ [(e} 1] < 3] N ~ o [} o0} N~ [{e]
© 0O © 0 ) re) < < < < < < < < < < 1) I5¢) ® I
=
< > O o Q
S| = ©° > | =
Z| O — c [0 >
9 | Qo | 2|8
el = cC (04 = s
wl s ] N c = —
Z| © L2 — > > | 9
o| © Q bs] c c o
s |s|le|le|l8|®
Ol & | & | N 2
Nl N N Ne) Q Q o
ol ¥ | X | |w |w|O




	Arkusze i widoki
	Rys.04.3 PT


